8 | 7 | >|< 6 5 | | 1

Masse/Dimensions in mm

M5x16 M5x40

page 8
|5-6Nm | |5-6Nm |

3x M5x12

“M5x50 (329

page 17 |2«

Ansicht X

page 4/5/6
page 17 |2«

o

| ‘I I Only valid in relation with current engineering BOM

] Scale |Format| 1SO "E” QApproval requiremean(riﬁcul feature | Name Sheet
Ji A3 | EF Qe Qyvage teae | SD DS TS20-E 16 HNA | ™

A|...400ml Pos.716 | [mlSpe] —— 1< IS7 DS TS20-E 1.6 HNA |

Drawn 30.01.201% [ NIGGAND 14

Hilti = registered trademark

Ef B 1...900mI| Pos.716 of Hilti Corporation, Schaan, LI | Madified | 30.01.2014 | NIGGAND Document No. 5148796 [/ D |/ 577955

Copyright reserved Checked Material No. 34193()

Print Date: 30.01.2014 08:48:04 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 001 / 04 | ECM: 000000577955 | Comment:

8 7 | >[< 6 | 5 /N\ <]




8 7 | >|< 6 5 <[> 3 | 2 | 1

Masse/Dimensions in mm

M8x20 \ )
28-32Nm

“\\\\\\\"}‘

T

\\\\\\\\\\’3‘
- /
8x
8-10Nm
B M6x35
—_ W
W Q
‘\\\\\\\\\\- \/
—
o
Only valid in relation with current engineering BOM
Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet

TR | e Qv renee | SD DS TS20-E 16 HNA | ™

6 X m Status 30.01.2014 | Released SZ DS TSZO-E 1 6 HNA of
Drawn 30.01.201% [ NIGGAND 14
Hilti = registered trademark
M6x16 of Hilti Corporation, Schaan, LI [ Modified | 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955
Copyright reserved Checked Material No. 34193()

Print Date: 30.01.2014 08:48:05 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 002 / 04 | ECM: 000000577955 | Comment:




>[< 6 1

(=]
-~

Masse/Dimensions in mm

Only valid in relation with current engineering BOM

Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet

TR | e Qv renee | SD DS TS20-E 16 HNA | ™

m Status 30.01.2014 | Released SZ DS TSZO-E 16 HNA of

Drawn 30.01.201% [ NIGGAND 14

Hilti = registered trademark
of Hilti Corporation, Schaan, LI | Modified 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955

Copyright reserved Checked Material No. 34193()

8 7 | >[< 6 5 /N\ <]

Print Date: 30.01.2014 08:48:06 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 003 / 04 | ECM: 000000577955 | Comment:




>[< 6

5 <|>L |

1

page 5

M8x16

12-15Nm

28-32Nm

Masse/Dimensions in mm

28-32Nm

1.5-2Nm M8x25
M4 x14
Only valid in relation with current engineering BOM
Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet
R P Qreio teatwe | S0 DS TS20-E 16 HNA | ™
Status 30.01.2014 | Rel d
1T 1 s 157 DS TS20-E 16 HNA |
Drawn 30.01.201% [ NIGGAND 14
Hilti = registered trademark
of Hilti Corporation, Schaan, LI [ Modified | 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955
Copyright reserved Checked Material No. 34193()
8 7 >[< 6 5 /N\ <]

Print Date: 30.01.2014 08:48:06 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 004 / 04 | ECM: 000000577955 | Comment:




8 7 | >|< 6 5 <[> 3 | 2 | 1

24VDC ON” =0,2mm

Md =min. 2,5Nm

CLEAN !

2X . . . o

Only valid in relation with current engineering BOM

Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet
183 | 2 O Qrae e | SD DS TS20-E 16 HNA |}
m Status 30.01.2014 | Released SZ DS TSZO-E 16 HNA of

Drawn 30.01.201% [ NIGGAND 14

Hilti = registered trademark

of Hilti Corporation, Schaan, LI | Modified | 30.01.2014 | NIGGAND Documen t No. 5148796 | D | 577955

Copyright reserved Checked Material No. 34193()

Print Date: 30.01.2014 08:48:11 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 005 / 04 | ECM: 000000577955 | Comment:



8 7 | >|< 6 5 | <[> | 3 2 1

Masse/Dimensions in mm

SO NS

Only valid in relation with current engineering BOM

Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet

TR | e Qv renee | SD DS TS20-E 16 HNA |

m Status 30.01.2014 | Released SZ DS TSZO-E 16 HNA of

Drawn 30.01.201% [ NIGGAND 14

Hilti = registered trademark
of Hilti Corporation, Schaan, LI | Modified 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955

Copyright reserved Checked Material No. 34193()

Print Date: 30.01.2014 08:48:12 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 006 / 04 | ECM: 000000577955 | Comment:



<[>

2 1

Md = 60-65Nm

— Rutschkupplung kpl. eingestellt
— Safety clutch cpl. adjusted

Masse/Dimensions in mm

Only valid in relation with current engineering BOM

Scale

Format

A3

ISU uEu

=R

QApproval requirement Q Critical feature

(@3

Q Major feature

Hilti = registered trademark

Status

30.01.2014 | Released

Drawn

30.01.2014 | NIGGAND

Name

SD DS TS20-E 1.6 HNA
SZ DS TS20-E 1.6 HNA

Sheet

7

of

14

of Hilti Corporation, Schaan, LI | Modified

Copyright reserved

30.01.2014 | NIGGAND

Document No. 5148796 / D |/ 577955

Checked

Material No.  347193()

Print Date: 30.01.2014 08:48:13 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 007 / 04 | ECM: 000000577955 | Comment:




8 7 | >|< 6 5

<[>

2 1

M6x148

Pos. 41 ooo (600h)
Pos. 42 o0 (200h)
Pos. 43 0 (400h)

Masse/Dimensions in mm

Only valid in relation with current engineering BOM

Scale

Format

A3

ISU uEu

=R

QApproval requirement Q Critical feature

(@3

Q Major feature

Hilti = registered trademark

Status

30.01.2014 | Released

Drawn

30.01.2014 | NIGGAND

Name Sheet

SD DS TS20-E 1.6 HNA ]

SZ DS TS20-E 1.6 HNA °1f[+

of Hilti Corporation, Schaan, LI | Modified

Copyright reserved

30.01.2014 | NIGGAND

Document No. 5148796 / D |/ 577955

Checked

Material No.  347193()

Print Date: 30.01.2014 08:48:14 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 008 / 04 | ECM: 000000577955 | Comment:

8 | 7 | >[< 6 5 /N




8 7 | >|[< 1

Masse/Dimensions in mm

Conversion
set 2080372

Only valid in relation with current engineering BOM

Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet
183 | 30O Qrage e | SD DS TS20-E 16 HNA | ™
Stat 30.01.2014 | Rel d
Sl o ‘ot |S7 DS TS20-E 16 HNA | o
Drawn 30.01.201% [ NIGGAND 14
Hilti = registered trademark
of Hilti Corporation, Schaan, LI [ Modified | 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955
Copyright reserved Checked Material No. 34193()

Print Date: 30.01.2014 08:48:15 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 009 / 04 | ECM: 000000577955 | Comment:



8 7 | >|< 6 5 <[> 3 2 1

Masse/Dimensions in mm

22-25Nm Only valid in relation with current engineering BOM
Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet
183 | 2 O Qrae eawe | SO DS TS20-E 16 HNA | ™
Status 30.01.2014 | Released
T SZ DS TS20-E 16 HNA |
Drawn 30.01.201% [ NIGGAND 14
Hilti = registered trademark
of Hilti Corporation, Schaan, LI [ Modified | 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955
Copyright reserved Checked Material No. 34193()

Print Date: 30.01.2014 08:48:16 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 010 / 04 | ECM: 000000577955 | Comment:



<[>

2 1

A\

?

804

Masse/Dimensions in mm

Copyright reserved

@ M8x16 Only valid in relation with current engineering BOM
Scale |Format| ISO "E” QApproval requiremean(riﬁcul feature | Name Sheet
3 | 30 Qe Qreio reatwe | S0 DS TS20-E 16 HNA | ™
Stat 30.01.2014 | Rel d
gl — —" ISZ DS TS20-E 1.6 HNA |
Drawn 30.01.201% [ NIGGAND 14
Hilti = registered trademark
of Hilti Corporation, Schaan, LI [ Modified | 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955

Checked

Material No.  347193()

Print Date: 30.01.2014 08:48:17 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 011 / 04 | ECM: 000000577955 | Comment:



>[< 6

<[>

2 1

Masse/Dimensions in mm

Repair solution for the shaft

Only valid in relation with current engineering BOM

Scale

Format| ISO "E” QApproval requirement Qtriﬁcul feature

A3 E@ Quase

Q Major feature

Hilti = registered trademark
of Hilti Corporation, Schaan, LI

Copyright reserved

Status

30.01.2014 | Released

Drawn

30.01.2014 | NIGGAND

Name

SD DS TS20-E 1.6 HNA
SZ DS TS20-E 1.6 HNA

Sheet

12

of

14

Modified

30.01.2014 | NIGGAND

Document No. 5148796 / D |/ 577955

Checked

Material No.  347193()

Print Date: 30.01.2014 08:48:17 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 012 / 04 | ECM: 000000577955 | Comment:

>[< 6




w Juswiwio 0 1656225000000 :NO3 | ¥0/ €10/ 96.871S/ ASN HIN-uswnoo( | suewAe | Asho :Aq pajulld | 81:8%:80 7102 L0'0€ :¥eq Julid

T M NG
€ -1 1.m <~
3 & —~
€ g
@ (@)
R=] [~
(72}
-| & = = L
a I I |-
(=]
= [
O O
- — —
(NN} (NN} O
| | o ©
O O ~1m
1 N N X1 o
»w un TG
— | O
— — | ™M
v un |2l
=z
(-] (-] < | =
m g
[
(] (7]
mD N 2|5
=N W al =
y
2 5
o =
Q o
- ¢l2lalo
m = =
S |2 &8|8|3|3
o |E glzslalg
NNNNN
2 |00z ==
R 2|
— (=] < [=)
a [ S la ]S
i R B B
¥ | g sla]sa
— @ (=] < (=3
o et M m m
S |5
o
()
“— [ -
m = @ 2| B
o > 2 Sle | x
S| s 8|8|¢%
a w — [ Y o
o Ann_. mm wv a = fww]
£ |00 >
= mna
c S g
=] : nm.h ]
= w o >
-— H .MS &
o o o . 7]
=) £ &
il R s 9
B%
K= &5 =€
5 g
= g m oE =
S |5 < ge &
> = s C
> | =T
[ [=} ] = -
[}
S | & o

PE1

AWG12

PE




>[< 6 5

<[> 3

| 2 | 1

Haffungsausschluss

Reparaturen am Gerdt durfen nur von einer enfsprechend sachkundigen Fachkraft unter
Beriicksichtigung der gesefzlichen Vorschriften durchgefihrt werden. Andernfalls besteht
Unfall- und Verletzungsgefahr. Die entsprechenden Instrultionen beziglich Pflege, Unterhalt
und Reparafuren in den jeweiligen Bedienungsanleitungen sind strikte einzuhalfen

Disclaimer

Tool repair must be performed only by qualified repair personnel knowledgeable about the
specific fool and the legal requirements. Service, maintenance or repair preformed
byunqualified personnel could result in a risk of accidents and injury. The instructions with
regard to service, maintenance and repair in the respective operating instructions must be
strictly adhered to.

FERN

SRS ASVARBRHEEHRNR - URERRNEX - BAGRAAR
ETRE. RRIEE - JRSEIRENREE - WRARRRTSERIET
. REREBHRI -

Masse/Dimensions in mm

Wskloyp ake Ha 0TroBoPHOCTTA

YPedbT MoXe 24 Ce PeMOHTHPa CaMo 0T koOMNeTeHTeH CNelHaAWcT NPH CbEA0AaBaHe Ha
HOPMaTHBHNTe PasnoPedin . B nPoTWBen cAYyaR MoXe Aa BbsHMkHe ONAcHOCT o1

HaPaHs aHe NAN 3nonoAYra. TPafpa Aa Ce CNasgal CTPHKTHO CbOTBeTHHTe WHGTPYKLMN Mg
OTHOWeHNEe HA TeXHWYeCxo ofCAYED aHe, MOAAPLXKkA W PeMOHT, XOMTO Ga NPHBedeHN b
Cb0TBeTHMTe PbxOBOACTOA 34 exGNAOATAUNA,

WyloucenT zaruky
Opravy ndfadi sméji, s ohledem na zdkonné predpisy, provadet ndleZitym zpusobem jen

odborné kvalifikovan? pracovnici. Jinak vznikd rizko drazu a poskozent. Pokyny ohledné

dodrzeny.

Ansvarsfraskrivelse

Reparationer pd opparatet skal altid udferes of en fagmand i overensstemmelse med de
geldende regler og bestemmelser. | modsat fold er der risko for ulykker og personskader.
Anvisningerne pd pleje, vedligeholdelse og reparationer, der er beskrevet i instruktionsbogen,
skal altid overholdes.

Amomoinan subuvev

Emokenéc om ouokeuf emmpémeran v Sevepyoviar VO GG QVITOTONG SKTIOBEUEVTL
TIPOOWTa AQUBAVOVTaC UTioyn TC VOLKEC DaTafec, AOpopeTkG udpxa kivawoe v
ayara ka Tpauemadodc, | péma va mpodvia auompd o ioxdoude obnyfeg iou
QVaPEOVIAN OTa EXAOTOTE €yXERIB Xpdone 60OV apopd ™ QEOVTIOO, T OuvIoNON KA T
ETNOKELES,

Exencion de responsabilidad

Las reparaciones que se realicen en la herramienta solo pueden ser efectuadas por expertos
especializados conforme a las disposiciones legales. En caso contrario, existe el peligro de
accidente o el riesgo de lesiones. Las indicaciones referentes al cuidado, al mantenimento y o
las reparaciones incluidas en los correspondientes manuales de instrucciones deben cumplirse
estrictamente.

Vastutuse valistamine

Seadet fohivad paranduda Uksnes asjnomase ettevalmistusega spetsialistid, kes peavad kinni
seadusandlikest eeskirjadest. Nimetatud ndude erramise tagajdrjeks on vigastuste ja dnnefuste
oht. Rangelt tuleb jargda iga seadme kasutusjuhendis toodud asjaomaseid hooldus-,
korrashoiu- ja parandusjuhiseid.

Vastuulauseke

Laitteiden ja koneiden korjaustditd saa fehdd vain ammattitaitoinen, ndihin foihin kouluettu
henkilo, ja toissd on noudatettava lakisadteisia maardyksid. Muutoin onnetfomuus- ja
loukkaanfumisvaara on olemassa. Kdyttaohjeissa annettuja hoitoa, ylldpitea ja korjauksia
koskevia ohjeta on ehdottomasti noudatettava tarkast.

Limifation de responsabilife

Les réparations sur lappareil doivent exclusivement tre effectuées par une main-diewvre
qualifie et compéfente, conformément qux prescriptions légales. A défaut de quoi, il y a
risque daccidents et de blessures corporelles. Les instructions correspondantes relatives au
nettoyage, @ lentretien et aux réparations spécifides dans les modes demploi respectifs
doivent &tre rigoureusement respectées.

Iskljucenje odgovornosti

Popravke na uredaju smiju izvoditi samo odgovarajuéi strutnjaci uzimajuéi u obzir zakonske
propise. U suprotnom slutaju postoji opasnost od nezgoda i tjelesnh ozljeda. Strogo se valja
pridrZovati odgovarajucih uputa glede njege, odrZavanja i popravaka u pojedinim uputama za
uporabu.

A felelosseq kizarasa

A szerszdm jovitasat csak kifejezetten hozzdértd szakember végezheti a vonatkozd forvényes
eldirdsok betartdsdval. Ennek figyelmen kivil hagydsa baleset- &s sérilésveszélyt idéz eld. A
mindenkori kezelési utasitas szervizre, karbantartasra és jovitasra vonatkozo rendelkezéseit

szigoran be kell fartani.

Esclusione di responsabilita

Le riparazioni dellattrezzo devono essere esequite esclusivamente da personale specializzato
addestrato, osservando 1 relafivi requisiti di legge. In caso confrario sussiste il pericolo di
incidenti e di lesioni. Attenersi con precisione alle istruzioni relative alla curg, la
manutenzione e la riparazione riportate nelle rispettive istruzioni duso.

REXE

FMAOBRE. ARZRTEBRANY v UANOHH, BRSNT\SER
ClE> TADCEHTEET, 2OMOANBELITE. BROSHOER
HEEB\ET, BRRAEC EASNTNOFAN. RISSUBRICETD
BREHTESL T<ES,

2SHE

1 22le Y4E Z3fsto] HE IS AT0] YAY £ QISLICH 237 8tX|
AT AL U 24 fIFol YELICI, AT AR MM JIMElo Y ML,
5
=]

QA2 § 22l 2BE KIS YAotA Exofop FLTH,

Atsakomybes apribojimas

Prietaisas gali bati faisomas fik atitinkamg kvalifikacijo furindiy specialisty afsizvelgiant |
teisinius potvarkius. PrieSingu atveju yra pavojus pafirti nelamingg afsitiking arba susizeisti.
Privalu tiksliai laikytis atitinkamy priezidros, aptarnavimo ir remonto instrukeijy, nurodyty
alitinkamo priefaiso naudojimo instrukcijoje.

Atbildibas atsauksSana

Instrumenta remontu drikst vekt tikai atbilstosi kvalificéts persondls, ievérojot spéka esosds
tiesibu normas. Citddd gadijumd pastdv negadijumu risks un risks gat fraumas. Stingri
jaievéro atbilstodie attiecigo lietoSanas instrukciju norddijumi, kuri attiecas uz instrumentu
kopSanu, uzturéSanu kdrtibd un remontu.

Disclaimer

Reparaties aan het apparaat mogen alleen worden uitgevoerd door gekwalificeerd en
deskundig personeel, mef inachineming van de wettelijke voorschriften. Wordt hier nief aan
voldaan, dan kan dit leiden tot ongevallen of letsel Men dient zich strikt te houden aan de
instructies inzake verzorging, onderhoud en reparaties in de befreffende
gebruiksaanwijzingen,

Ansvarsfraskrivelse

Reparasjon av maskinen skal kun foretas av sakkyndig fagperson . Lovfestede krav ma falges
under dette orbeidet. | motsatt fall oppstr fare for ulykker og personskade. De filherende
instruksjonene vedrarende pleie, vedlikehold og reparasjon i de filherende bruksanvisningene
md felges naye.

Wytaczenie odpowiedzialnoscr cywilne)

Naprawy urzadzenia moga byC przeprowadzane wytacznie przez auforyzowanego serwisanta
2 uwzglednieniem obowiazujacych przepisow prawnych. W przeciwnym razie istnieje
zagrozenie spowodowania wypadku i obrazed. Nalezy doktadnie przestrzegai zalecefi z
poszczegdlnych instrukcji obstug dofyczacych pielegnacji, utrzymywania w stanie

SPrawnosci 0raz NOprow.

Exclusao de responsabilidade

As reparacdes no aparelho devem ser efectuadas apenas por pessoal técnico especializado, sob
consideragdo das prescricoes legais. Caso contrdrio, existe perigo de acidente e ferimentos. As
respectivas instrugdes relativas @ conservacdo, manufencdo e reparacdes que constam no
respectivo manual de instrucdes devem ser rigorosamente respeitodas.

lzkljucitev odgovornosti

Popravila lahko izvajajo le ustrezno usposobljeni sfrokovnjaki ob upoStevanju zakonskih
predpisov. V nasprotnem primeru obstaja nevarnost nesre¢ in poskodb. Strogo je freba
upoStevafi usfrezna navodila glede nege, vzdrZevanja in popravila iz posameznih navodl za
uporabo.

Clauze de exonerare

Repararea masinii (sculei) frebuie efectuatd doar de catre personal
calificat pentru reparati, care posedd cunostinte despre masina
respectiva si cerintele legale. Activitdtile de depanare, intrefinere
si reparare efectuate de personal necalificat pot duce la risc de
accidentari si vatamariTrebuiesc respectate cu strictete toate
instructiunile de depanare, intrefinere si reparare din manualele de
utilizare respective.

Friskrivaing fran ansvar

Reparationer pd detta verktyg fdr endast utfdras ov fackman, och gdllande lagar och regler
maste foljos. | annat fall finns risk for olyckor och skodor. Instrukhionerna om skitsel,
underhdll och reparationer i respektive bruksanvisning mdste faljas strikt.

WeknoyeHne 0TBeTCTBEHHOCTH

Pewon1 annabata RoAxeh BHNOAHATHCA TOAbKO KB AAMONUKPOB AHHHM CNelUNaANCTOM APK
YCA0B WM COEN0AeHHA NPeANHCAHWA, YCTaHOBAeHHHX 3810HON.

B nPotue HOM CAY4ae BOaMOKHA YrDPO32 HeCYACTHOrO CAYYas WAW TPABMMPOB AHNA,
CnedYeT HeYxOCHHTeALHO BUNOAHSTL WHCTPYKUMH No YxodY, ColePXaHHO H PeMOHTY
annapata, NPHpedeHHHe B COOTBETCTB YIOUMX PYxosoACTBAX No sxCNAYATAUNK,

VylGcenie zaruky

Opravy ndradia smd, s ohl'adom na zdkonné predpisy, vykondvaf ndleZitjm spdsobom len
odborne kvalifikovant pracovnici. Inak vznikd riziko rozu a poskodenia. Pokyny tikajice sa
oSetrovania, ddrzby a oprdy, uvedené v prislusnjch ndvodoch na pouZivanie, musia byf
presne dodrZané.

Only valid in relation with current engineering

BOM

ISU uEu

=R

Scale | Format

- | A3

(@3

QApproval requirement @Criﬁcul feature

Name

SD DS TS20-E 1.6 HNA

Sheet

@ Major feature 14

m Status 30.01.2014 | Released SZ DS TSZO-E 1 6 HNA of
Drawn 30.01.201% [ NIGGAND 14
Hilti = registered trademark
of Hilti Corporation, Schaan, LI | Modified 30.01.2014 | NIGGAND Document No. 5148796 / D |/ 577955
Copyright reserved Checked Material No. 34193()

8 7

Print Date: 30.01.2014 08:48:19 | Printed by: Gusty Taymans | Document-Nr: USD / 5148796 / 014 / 04 | ECM: 000000577955 | Comment:




	5148796usd001_04_DR1_1_8101
	5148796usd002_04_DR1_1_8101
	5148796usd003_04_DR1_1_8101
	5148796usd004_04_DR1_8101
	5148796usd005_04_DR1_8102
	5148796usd006_04_DR1_8102
	5148796usd007_04_DR1_1_8102
	5148796usd008_04_DR1_8102
	5148796usd009_04_DR1_8102
	5148796usd010_04_DR1_8102
	5148796usd011_04_DR1_8102
	5148796usd012_04_DR1_1_8102
	5148796usd013_04_DR1_1_8102
	5148796usd014_04_DR1_8103

